Station 1:
A pool has a filter that pumps water through the filter system to clean the water.  The rate that water was being pumped through the filter was measured at various times over a 10 minute interval.  The table below shows the times and rates (gal/min) that were being pumped through the filter.  Use this table to answer the following questions.
	Time (minutes)
	0
	1
	6
	10

	g ‘ (t)  (gal/min)
	12
	18
	24
	17



1. Use a right Riemann Sum with three subintervals to approximate the total gallons of water pumped through the filter over the 10 minutes.




2. Use a trapezoidal approximation with three subintervals to approximate the total gallons of water pumped through the filter over the 10 minutes.








3. Use a left Riemann Sum with three subintervals to approximate the total gallons of water pumped through the filter over the 10 minutes.






Station 2:



Given that  and , answer the following:

1. 



2. 




3. 




4. 


[bookmark: _GoBack]

5. 





Station 3: 
[image: ]The graph of f consists of line segments and a semicircle, as show in the figure below.  Evaluate the following definite integrals using geometric formulas.






1. 

					2. 							
						
																											


3. 						4. 	






5. 						6. 

Station 4:


1. 					2.  







3. 						4. 







5. 						6. 








Station 5:


1. 				2. 








3. 				4. 			





	








Station 6: 

1.  Given  and the point (0, 1) on the solution curve, solve for the particular solution to the differential equation.







2. Given  and the point (0, 4) on the solution curve, solve for the particular solution to the differential equation.





3. Solve the following differential equations with the given info:

a.  



b.  
image3.wmf
(

)

=

ò

dx

x

f

12

1


oleObject3.bin

image4.wmf
(

)

=

ò

dx

x

f

1

8


oleObject4.bin

image5.wmf
(

)

=

ò

dx

x

f

4

4


oleObject5.bin

image6.wmf
(

)

=

-

ò

dx

x

f

12

8

4


oleObject6.bin

image7.wmf
(

)

[

]

=

+

ò

dx

x

f

8

1

3

2


oleObject7.bin

image8.wmf

image9.wmf
(

)

=

ò

-

-

dx

x

f

1

2


oleObject8.bin

image10.wmf
(

)

=

ò

-

dx

x

f

3

1


oleObject9.bin

image11.wmf
(

)

=

ò

-

dx

x

f

1

4


oleObject10.bin

image12.wmf
(

)

=

ò

-

dx

x

f

2

1


oleObject11.bin

image13.wmf
(

)

=

ò

dx

x

f

0

3


oleObject12.bin

image14.wmf
(

)

[

]

=

+

ò

dx

x

f

3

1

2


oleObject13.bin

image15.wmf
(

)

=

-

ò

dx

x

3

2


oleObject14.bin

image16.wmf
(

)

=

+

ò

dx

x

2

2

3


oleObject15.bin

image17.wmf
=

ò

dx

x

3

4

2


oleObject16.bin

image18.wmf
=

+

-

ò

dx

x

x

x

5

2

3

4


oleObject17.bin

image19.wmf
=

ò

dx

2


oleObject18.bin

image20.wmf
=

ò

x

x

3


oleObject19.bin

image21.wmf
=

-

ò

xdx

cos

3


oleObject20.bin

image22.wmf
=

ò

xdx

x

cot

csc


oleObject21.bin

image23.wmf
(

)

=

-

ò

dx

x

x

sin

2


oleObject22.bin

image24.wmf
(

)

=

-

ò

dx

x

1

sec

2


oleObject23.bin

image25.wmf
3

2

-

=

x

dx

dy


oleObject24.bin

image26.wmf
x

dx

dy

cos

=


oleObject25.bin

image27.wmf
(

)

8

)

0

(

,

6

'

=

=

f

x

x

f


oleObject26.bin

image28.wmf
(

)

4

)

0

(

,

8

)

0

(

'

,

'

'

2

=

=

=

f

f

x

x

f


image1.wmf
(

)

10

8

1

=

ò

dx

x

f


oleObject27.bin

oleObject1.bin

image2.wmf
(

)

3

12

8

-

=

ò

dx

x

f


oleObject2.bin

